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B: p=((~p) vq)
C: (~p) vq)=q
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(D)

A TT0T F0T \D) BB Hoed ) sded mOTE.

B: TYT0TT Twem W WS FeE,
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BIRY ZROATTOZ ) By A 00T B R F8eod IPRY BOWTHE. ©TH BIRT TRT
60 m =TT, mcpmo@cﬁcd FTOWRE AORBDITO m.
(cos135°= — 0.7 Q0T ©T3)
Question: B y\
L A
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v=03x2+4) m/s JNn3Y 05kg TedOH 20T Tod FTY Tedod TFPTY WORIP. x=0
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100kg Tod0% A,B abégp C Q02 DTOCSON DR ir@rﬂ@abd AB=BC=13m 90>=03 IC%
Question: JedoDY VOICONTD.  ©Be Tod BRODDTI TS ¥d P HedI mdbzzxre we F
| AC ob vow ®F 933 B 303 13 m BAORY P 3nomAord. F 8 dodd
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%38 2x107 N/m? 8 g 27°C SQDE V Megn 1o IDFF HeZE @A0mD,
}8nRey §00oRNY WTT M QILHmIMEESR JTTRRYILING. 080 Funey s0dodQ
Question: | : : - :
VBT Mg, 3T QOTHIICN ITTHTHZT. SO B0dR WIBR)
(y=15 Q0T 2¥R)
A: 3.536 x 10° Pa
B: 3.536 X 10° Pa
c: 1.25 % 10° Pa
D: 1.25% 10° Pa
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(A) w@a’oﬁam& IRTARPATON WO WAVT WENNY TTTO WORTE FRZDOIRMHTT.
(B) EWH, BLRTOSCY O WIVT WLNY JTAO BUTTE BT,
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A: 33033 CEICISNEY é%ﬁzﬁeﬁa

B: DRT® mrsqS%ﬁ RTE0NY FBROW d.faeqﬂwabd Hedxedesd
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D: SFOT wﬁo&m& 3RO RIeD
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2Ot RWIVOSBT JOF mdfaﬂ@ WORT WWOHPW rms WSO 6.9 pA SN, BeeOD t:’r&ﬁe)é
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600 rad/s &2 230V ac Toooln 2T, BedTON & ToTTT HoTIBO :
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Question: | 8§ FLNT OIVW YT IOOIRNT 2
TRFNT RITUPIQ, WeFFH TecRTod Fomd weg Woewpnay WP BeTd wey
A: ’
%@mﬁcﬂ@d&‘éﬁ.
B: TREENT FoRTRISD, LeTTD 2ReRTo3 Soe 2069 &ee}%ﬁcﬁg 02 g0 IO,
TRPNE FDIVYIY, B¢¥sT STOM 0T TACWOT BRTWTE B[NT, HTRE 50
C:
BREF B0308 JETPUS TBROWST.
D: HECONT FOINEONO0ZT TRHNT FToenWEY IR JFToTwNTVSE.
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BTN 0TI TWIDDWT py I pp JEELIT BR,LFITT A D) B 02 QTW QT
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D: 5x10~10 v M
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20T &Q@ﬁﬁc‘&)& 800 nm STOMROSTT 238 gﬁéFﬁmﬁtﬁ. &N AN Bos 253‘}006362 CS%\%
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QUESoN | orizy oI, STY GReEE RODFFOTD
(hc=1230 eV-nm 20T IrTHIRY)
A: 1.537 eV
B: 2.46 eV
C: 0.615 eV
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B Bed BT NWZITHT HTpE B FYHOOT BRTBOY DBRET TEIoDT, W¥A 20 cm
ngdmﬁcbwo:a’ NFZ0NY NT WTUNEOZ .00 DBBIWS FeO D, %céﬁ@ﬁmﬁd. ORYNY
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B3PIy wormogode WSy Jedwon WBT LOOT IO TRTOOT 8O SITLOT JW IR,

Question: =

| SeortovEes. BT Sen mechy 320 m/s B, SFOROT BR0WOT INT Fwe $TY
640 Hz <3 QeTT FeR8R0T OTER TYNY TRHNT VFOT B8H[E Hz.

Topic: Physics-Section B

Item No: 56

Question

D: 100056

?ues.tion Numeric Answer

ype:
6m BT RReYE Mg $Hed WorE 2 uC/am® SNT. Reedd Hed 0T BRTWIS

Question: | 2000 FF Fed; DAFEYR wodedod o x1019NC—L
(BT : DerE TReIT AT OVZ €, =8.85x10"12C2N"1-m~?)

Topic: Physics-Section B

Item No: 57

Question ID: 100057

Question Type: | Numeric Answer




3RRHN WIEY V, 3 B3S00 V.

2V 1k0
I AVAYAYAAY,
| Vo 1k
Question: I AN
°¥V 1Kk
| AVAYAVAVAY .
Vo
Topic: Physics-Section B
Item No: 58
Question
D 100058
?ues.tion Numeric Answer
ype:
d AT W 1 YFT 0D ToDXH SoSNER, XSPOSTN ERBATIN .00 R SReBLTR
Question: | AOC3REESE 2,08 FOTEFMITT. 2O 08 ToeNT B0 YT 21 V), ¥F Brey BroWGT
2alalo] méﬁag‘) d.
Topic: Physics-Section B
Item No: 59
Question
D- 100059
_?ues.tion Numeric Answer
ype:
Se0¢ (ITomoIT =4000 A) wvorBRE LED eUme®s SIS TIoH ROETRD
Question: | eV.
(TETT TWemor 03 TRFRAYA)
Topic: Physics-Section B
Item No: 60
Question 100060

ID:




Question ,
Type: Numeric Answer
6.03 ©8 zsai:u‘oﬁéodaa‘o& SRORL 3egerds TV Reesdds 980 h NG, .0t ¥TT 8.8%0¢.
Question: | 39 om0 wFH0L, FOTF 100 I, FRM0D &g, 64008.00¢ BT ha HSodn eITIY
Topic: Chemistry-Section A
Item No: 61
Question
D: 100061
Question
Type: MCQ
SO,CL, ¥Q3 DEOBRONN VEFA SIREOD 1TFITI), VBRI,
SO,Cl, +2H,0 — H,50,+2HCl
Question:
8% BTy QOFEosTEd, TRrOF RN BWFRRYILY 16 BRe ¥ NaOH ©m3mmmand. momsd
TO3RENAT SO,Cl, Brpeernie BoBoR :
A 16
B: 8
C: 4
D: 2
Topic: Chemistry-Section A
Item No: 62
Question ID: | 100062
Question
Type: MCQ
Question: PN AR %‘%Oé,aw ?-50335?1%3 nesg Odda@cﬂa’% a":@ESa RRTTIMROL ?
A: 1
- n=3,1=2, ml=[],s=+5
B: 1
: n=3,1=2 m=-2,s=+ >
C: 1

n=3,1=3, my=-3, s=— )




D: 1
: n=3,1=0, m=0,s=— 7
2
Topic: Chemistry-Section A
Iltem No: 63
Question
D- 100063
Question
Type: MCQ
05mLL™! a:’a‘igd ToTBONTNT TONE T e:‘ra;c-q @aﬂz‘acﬁ TRETTD WODDT BDASFY 0.0405°C
SNE. TOWFTF ST ToT3odN 1.05 gmL ™! [ovT:D.
Question:
TONFT R TOWT W[OOIVFT VTR
(@B : k¢: = 1.86 k kg mol ™ 1)
A: 0.8
B: 1.4
C: 1.9
D: 2.4
Topic: Chemistry-Section A
Iltem No: 64
Question
D- 100064
Question
Type: MCQ
20 mL ﬁﬁ% 0.1 M NH4OH 5511 40 mL amﬁ 0.05 M HCI1 Sn0dn Sedxcond. emgsacﬂ pH
3559@5@
Question:
(t:i:;s’p ; Kb(NH4OI—I) =1x10"3, log 2 = 0.30, log 3 =0.48, log 5 = 0.69, log 7 = 0.84, ]og 11 =
1.04)
A: 3.2
B: 4.2
C: 5.2
D: 6.2
Topic: Chemistry-Section A




Item No: 65
Question ID: | 100065
Question MCQ
Type:
ﬁéﬁ-lcﬁ 2303 aﬁég- II ES)A DRODA :
ﬁég -1 mg - 11
(A)  Ny(g) +3H,(g) — 2NH;(g) @) Cu
Question: | (B) CO(g)+3H,(g) — CH,(g) +H,O(g) () Cu/ZnO—Cr,0,
(C) CO(g)+H,(g) - HCHO(g) (III) Fex0v+ K5O + Al,O4
(D) CO(g)+2H,(g) — CH,OH(g) (IV) Ni
BN DR SoPNRFY BO WIT SOX
A: (A) - (II), (B) - (IV), (C) - (I), (D) - (II)
B: (A) - (I, (B) - (1), (C) - (IV), (D) - (1)
C: (A) - (1), (B) - (IV), (C) - (1), (D) - (I)
D: (A) - (1), (B) - (1), (C) - (IV), (D) - (1I)
Topic: Chemistry-Section A
Item No: 66
Question ID: | 100066
Question MCQ
Type:
Question: | [Rn] 5f146d17s2 FeT @@%ﬁ'osﬁ LRANHT DT IUPAC T3Ech BID :
A RS RODTF
B: Q)tﬁd‘@@c}d}mﬁ
C: Q’)?&pﬁﬁ?ﬁoﬁaw
D: c‘é)?bq@&god)w
Topic: Chemistry-Section A

Item No:

67




Question ID: | 100067
Question
T;pe:I MCQ
TR, BOHODY $83 (SeeT 83L) TN IADTHHS FooIWYZ/MD :
(A) CaO
(B) FeO
Question: (C) ALO,
(D) ZnO
(E) NiO
3R BRWTON SoRNRYY TOSHRT NITIZ, SOA.
A (Q), (D) =P
B: (A), (B), (E) =%3
c: (A), (B) =%
D: (B) mg
Topic: Chemistry-Section A
Iltem No: 68
Questi
ID‘feS 'on 1100068
Questi
T;pe:: ion | \ica
. BEREO0N RBRTPNTIS mésaﬁomw oI onSetFReodn H,0, REFTPTROOT oD zoNn
Question: £ R ) =
Jplelplatinind
A: Mn2+
B: Mn4+
D: Mn&—l—
Topic: Chemistry-Section A
Item No: 69
Question ID: 100069




Question Type: | MCQ

Question: 5008 ERETNY TOTIOD TOIRT TOTJIY, SO
A: Li<K<Na<Rb<Cs
B: Li<Na<K<Rb<C(Cs
C: Cs<Rb<K<Na<Li
D: [Li<Na<K<Cs<Rb
Topic: Chemistry-Section A
Item No: 70
Question ID: | 100070
Question
Type: MCQ
BeoOT 3oDONY WooERE BT, B’ IYWT Wecoea” WIIT n0S0IN.
Question:
BE; + NaH —-4—50—5—) A + NaF
A + NMe;y = B
A &8s 200
B: Bd3oghedeod
C: QTNBE oD
D: 2398 3Deod
Topic: Chemistry-Section A
Item No: 71
Question
D: 100071
Question
Type: McQ
BRENTZRCON V0T FROT* JEFATOM YOLRIDR BOTT TEReRa FOONE (YOLT®
Q ti . -
estion médraeamf Hocdws) & :
) -~
A: éémemée%&sf
B: méefeésf




C: ﬁcﬁmécfew

D: méd &

Topic: Chemistry-Section A
Item No: 72

Question ID: 100072

Question Type: | MCQ

Question: Cﬂ%@ CA0L® m&g—ﬁﬁgﬁ@ﬁ FOWLTVTT FPAID :
A: NO
D: FCEICG)
Topic: Chemistry-Section A
Iltem No: 73
Question
D- 100073
Question
Type: MCQ
20T FOOINT ‘A’ oI X IB, Y Seo0n BEFA .0Te T@ND WIF, STT I, YT
er‘oréﬁqﬁ%tﬁ a ma_op b’ ﬁ@?abi VDD, ‘@’ Odbﬁq_l m%&ﬁ}mﬁ QUBAL VeBR &Sz‘ge‘,éj
2ITORTR.
« G
——> a+0=C-CH;—-C—-CHj
Question: CH; CHj '
| | CH3
H,C=C—-CH;—-C—-CHj,
| CHj3 CHj3
‘:soofmi’ A’ L +O—C—CH2—CII—CH3
CHj
X’ abte’gp Y e ﬁmmﬁ
A Kl\{tio4/H+ m:ﬁ'g TRFD KMnO4, 273 K




B: wFe KMnO, 273 K@@y KMnO,/H*
c: KMnO,/H* &3 O,, H,0/Zn

D: 0,, H,0/Zn &3 KMnO,/H*

Topic: Chemistry-Section A

Item No: 74

Question ID: 100074

Question Type: | MCQ

39NE 30HoDYS V0T JTBH WIRD :

OH
Question: (1) H3C @ 502(:1; 08T
B
(i) NaCN, DMF
CN
CN
B: \/k
/




CN
C:
CN

D /"\//
Topic: Chemistry-Section A
Item No: 75
Qgestion 100075
ID:
Question
Type: MCQ

PR ARV 03w goﬁaod:'gz :3235:\1;%3‘ (B3@) =D wéaﬁdﬁ@; R003RCHI0IN eBTHH
Question: = “

NTRHONY TOCITN TEARDR)DL.
A
Pd. 13::15»{3)4

(iy DIBAL- H
(i) H,O




. CO,C,Hs
(i) AlH(iso Bu), H
>
(i) HyO
O
D: . H
OH (I) NaECIZO? 5
(ii) H,SO,, Hy,O
Topic: Chemistry-Section A
Item No: 76
Question
D 100076
Question
Type: MCQ
20T TWORW FoOINT ‘A’ ol NHy ol =SFRwen FCNATT AoodnE ‘B’ BRRDTN.
300D B oI, Tpowmen Fecdamen Foodng C (CgHzNO,) wTdmm.
Question:
Kooy C o0 wgmeds KOH, 98 & Red@ S8 50000 RoIGFRSoD Be@ (FT3)
3ONNYY BEFA TPNT (@dma) @&‘béa?g BRTI)D. Aoodns A OV :
CHO
A:
CHO
CHO
B:
COOH
COOH
C:

COOH




CHO
OH

Topic:

Chemistry-Section A

Iltem No:

77

Question ID:

100077

Question Type:

MCQ

Question: aiwiodas‘-* 2)TRF) FENTPYNE TooQETTDOT SOITVTIMOTTD.
H,>N NH
2 YN\"/ 2
A NTN + HCHO
NH,
H,oN NH
2 W 2
B: NTN + HCHO
NH,
H,N NH,
+ HCHO
C:
NH,
NH,
/
> N + HCHO




Topic:

Chemistry-Section A

Iltem No: 78
Question ID: | 100078
Question
Type: MCQ
Question: | BRELIVNS MEORNLTRRLATON, FPNT 03T TEHodN LTSINATEE YVLOINITN.

. -
A: %, é&b@
B: BB0TO
C: LITFO
D: 'ﬁﬂéw‘a’a
Topic: Chemistry-Section A
Item No: 79
Question
D- 100079
Question
Type: MCQ

Bxionso odgonen @0&3&@%@ evdadeenads, awd 33, RRT TOODF Y, AW FOQATD
Question:
B, BOTEINYR, AQATTD. BRNYTY, FENTOZ TROTTONT.
A: @ﬁfae?m; &0
B: ﬁﬂéo&&ﬁﬁfﬁ?iz ned
o 3 RAOT N
el ed
D: 5083 &MIRNY
& £J £d

Topic: Chemistry-Section A
Iltem No: 80
Question
D- 100080
Question
Type: MCQ




3R HTW TeVINIT, VeBONT.
Bewd 1: Do, KHSO, Sp00r gocrwen, dxrdesdnneflmnd =08 ©ietda’

Question: clovwplenigviniavh
Bewd 111 w3eds TS % BR0NT THF) NRTRE Y BT, TOFHED SVTOLLNZDTID.
BOCIRE SoHCHTY, SO ¢

A: Beed 1 aﬁa@gp Beed 11 300N,

B: S | a‘n’*@g‘} Deed 11 I 3@?‘@".

C: Deed I IO <TT Jewd 11 @mwﬁd

D: Bew? I 3ooNd s©d Bews I B0 3.

Topic: Chemistry-Section B

Item No: 81

Question ID: 100081

Question Type: | Numeric Answer

89N TJp3egneY

Question: Nz, N2+, Nz_, sz_, Oz, Oz+, 02_, 022_
BOIRTIOSONT BRCTOT TIeTNE T05,080
Topic: Chemistry-Section B
Item No: 82
Question
D- 100082
_?;pees:tion Numeric Answer
298 K 39 Ipeden’, mFw 08, FEBREINY TBIT Q05090 FEdmon
Question: | —2220.0 k] mol !, —393.5 k] mol ™1 &&) —2858 k] mol~! &nd.  Feedemm (CyHy)
g0300%0 Q079 FrSTeewY k] mol~L (Z&0edd Temor 08)
Topic: Chemistry-Section B
Item No: 83
Question
D- 100083




Question

Numeric Answer

Type:
27°C 3¢ Se003 TRODT BAVE HWRY 4 atm YT, Ve ITY TR MBI,
Question: | QIPERRPAT. Beaw08 SAOT TRF LIF) x10~1 atm.
(Cﬁ:_é’p T 0T ms:g m:?’pts 27°C 3¢9 0.4 atm [WITI)
Topic: Chemistry-Section B
Item No: 84
Question
D 100084
1Q_ue§tion Numeric Answer
ype:
298K 39 7Zn|Zn2* (aq)|[Sn** | Sn @}ﬁ 3Re3 25y 0.801V snd. Hedx 3cdmon 298K
39 $ode Rnon® (0cIRIT deemowr) 1072 oNT. 3R0E ITNITTONT dee3
Question: | 30HODNY PATLAT HSTVT MY B30
=
- 0 _ o _ 2303RT
(t:fg. EZn2+|Zn =—0.763V, Esn”{sn + 0.008 V ma"\_)p e = 006V)
Topic: Chemistry-Section B
Item No: 85
Question
D 100085
_CI_)ue§tion Numeric Answer
ype:
200D WAL TOOINT A oD NP BIMON SToFoIN 240 FFoBNYINS. TTORTwoN WJIONY
WBTRY 500 RO AT, ITOTOD 250 tRT° wIWIOWAN SHRF oG 4.0 JLNRIOIW
Question: gnmsasecd
g 30dod 303 TeFodw . (Brmer 08 YOE0)
Topic: Chemistry-Section B
Item No: 86
Question
D- 100086
Question

Type:

Numeric Answer




0O Bredod ﬁo&em;ﬁ@aﬂ% Toned :

[CO(NH3)6]3+
[CoCL(NH,)]**
Question: | [Co(CN) ]~
[Co(NH,)5(H0)* *
©3 238 STONBRTT BYER, &ed (VTIREATT) BRWT BOBEdF T fdre BRT 5908 T
(RFI) o IPOFH) B.M. (Ze0eTT Teiwor OF)
Topic: Chemistry-Section B
Item No: 87
Question | 100087
_?;pees:tion Numeric Answer
Co3t,Ti2t, V2+ W) Cr2+ iraégdcb@m@;gz DWF© FHOOT éeic%r_aﬁa:sasfc‘dgl DENE SBT3
Question: | TSOIWTTT (VPFTT) T LD JIPE 508 TIH TPV B.M.
(ReNCTT TRTHoF0TF)
Topic: Chemistry-Section B
Item No: 88
Question | 100088
_?;pees:tion Numeric Answer
TOTODT BOINTRYN FEARURT W, ¥ TodoR HRU'S LEPITY, 0.25 g ST, Foow3now
Question: | R@NAEITMT @ﬁ@-@&oﬁmaﬁmq 25mL 3=, 2M H,50, 08 3&3%&@@2}&
TOSODT FOOIWOFTY OB T JeTBIOD & Ree’sY
Topic: Chemistry-Section B
Item No: 89
Question ID: | 100089
1Q_;pees:tion Numeric Answer
Question: | 233L0NWYT C,HN JQThs FosDEEOAT sp® Towrane Foadodw

Topic:

Chemistry-Section B




Item No: 90
Question ID: 100090
Question Type: | Numeric Answer

BRIt §0dhodd)

ed — &4
H,C
’ T
=0 Bt =
O Et 5 x
Question: TR0 YT,
CH,~ C~CH;
O

(@ Et o3 —C,H: 81d)
W33P, A IQHB é’dm@ TWF I NY ﬁogﬁﬁodwmeéo




